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The graph of y =x7:

Vertex: (O) O)

Axis of Symmetry: x:- D

Direction of Opemng i "IVC OP
-intercept:
y-intercep (O, o)

Pattern: i Tc
skarta Ver*&: Py
e

1. Find the vertex of the parabola.

the pattern is a little different (see next page).

Section: 7.2 Objective: Graph quadratic formulas using the vertex and value of a.

W =0 ah blx
[ I~ R T

2. Then use the pattern of the parent graph to find 4 more points, 2 on each side of the vertex. If @ isn’t 1,

koo @)
20 90

ez st 4D

Axis of Symmetry: - 2'

Direction of Opening: u P v
Is the vertex a maximum 0

y- 1ntercept

X=0  (0,3)
Domain: (mm‘)

TV )

Y VQ\uc_ of veriey

Maximum or minimum value: ( S%OOV d OF mk X

Vertex

Examples: Fill in the requested information for each function. Then draw the graph.

a) f(x)=x"+4x+3 Form of the equation: s*‘m"d
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Vertical Stretch:
* g changes how wide the graph is.
o If |(;ri =1, the graph is thinner than the graph of y = x?.

o If |a| < 1 the graph is wider than the graph of v = x”.

How a changes the pattern:

The normal pattern is find the vertex. then move over 1 up 1. To find the next two points go back to the vertex
and move over 2 up 4.

When a is not 1 you multiply the y-value(the “up” number) by “a@” to get the up value.

Example: y = 3x? Instead of over 1 up 1 it would be over 1 up 3 (one times 3) and instead of over 2 up 4 it
would be over 2 up 12 (four times 3)

|
b) f[x)z%[x—l]:—-i Form of the equation: ‘&ffcx a= @ h= ‘ k:.'."

Vertex:

CORNED -
Axis of Symmetry: X‘ ‘ LI
Direction of Opening: ue

a s eesibwe &

Is the vertex a maximum orfminimum?

Maximum or minimum value: :T\ [Tl
y~<eord

v-intercept: =

x |y
(0,-3.%) $h
Domain: ("“ ’DQ \ 3 ::_
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Vertex:

-b (D 3‘—”:' "S)
2e  am b b6

Axis of Symmetry: x= =

Direction of Opening: down t !
U m

Is the vertex @r minimum?

Maximum or minimum yalue: 5
y-intercept: v

x=0 (O, 1)
Domain: (_ 00) OQ)
nge: (- o, %]

e f(x)= 3" —6x+2 Form of the equation: s hM‘Vd

b:’b

i
Vertex -l %j
[e)

CTE7]

e=

H) f(.‘l’]=—(.‘l’+3]: -1 Form of the equation: V‘kax

verex: Ch, &)
(‘2' = ' )

Axis of Symmetry: x'-' -2

Direction of Opening: Jw n ‘ s’
Is the vertex r minimum?

Maximum or minimum valus‘ - l
b e

Domain: (.. w, ﬁ\
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=4
Vertex .:i_{r
P
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e) f(x)=2(x-4)-3
Vertex:

(k:k\ ( q, "3)

Axis of Symmetry: x 'h

Direction of Opening:

Maximum or minimum value:
| ——

v-intercept:

2(0-4

Domain: ([ = 0D 3 DQ)
" B,

Form of the equation: m

Is the vertex a maximum or

Y3 2 (0,29)

=4

3

yevord

Vertex

v

rebn

H flx)

T
2

Vertex™ L ———

20 2(-%

—=Adaximum or minimusg=alue:

y-intercept:

0, 2)
Domain: ( - “’ w\

-
Axis of Symmctryx = '
Direction of O euingzawn

Is the vc@m or minimum?

1 ¥ -x+2 Form of the equati0§ h‘\d“’d

RN
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rA"

i coord of veviex
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